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1 IR TR AR 40 5 40 43 10:00 ~ 10:40
( PREL 555 )

2 wmA BR EE 60 % 100 47 10:45 ~ 11:45

(B fRE )

3 e - A 60 % 160 47 13:00 ~ 14:00
( K& 555 )

4 NEFHESE KA 60 % 220 4 14:05 ~ 15:05
( RKE 10451 )

5 (N A = 40 5 260 47 15:15 ~ 15:55
( PREL 559 )

6 IWHE Rt EE 60 % 320 4 16:00 ~ 17:00
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7 s BEfR A 60 47 380 10:00 ~ 11:00
( K 550 )

8 S BEsL EER 60 % 440 4 11:05 ~ 12:05

(B IR )

9 LLHEIRE  EE 60 % 500 4 13:05 ~ 14:05
( PKE 553 )

10 B—07 R+ #&E 60 % 560 47 14:10 ~ 15:10
( AR 10451 )

11 goR EE AR 60 % 620 15:20 ~ 16:20
( PKE 553 )

12 BE EE AR 60 % 680 7 16:25 ~ 17:25
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13 )l fEw A 60 7 740 7y 10:00 ~ 11:00
( IR&E 553[# )
14 FEg El AR 60 7 800 47 11:05 ~ 12:05
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15 AR H¥ A 60 7 860 47 13:05 ~ 14:05



